3 (Sem-1) CSC
2016

COMPUTER SCIENCE
( General )

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the gquestions

Answer either in English or in Assamese

1. (@) State True or False : 1x4=4
wE o e

(i) Algorithms and flowcharts are
written in high-level languages.

ORI S FOIWR 2R-CTSH
languages =T® fo41 27 |

(i) Primary memory is non-volatile in
nature.

AR G NER A=A 899 |

(i) E-mail and Telnet are two
commonly available Web browsers.

E-mail 9 Telnet 2’# @T HHYFICS
979 Web browser.
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(2)

(v} Operating systems are the examples
of application softwares.

Operating system@H «fTFoe
50Ceed SR |
(b) Answer the following questions : 1x3=3
O 2rpTRd Ted fay

() How many bytes are equal to 1 KB?
9 bytes 1 KB?

(i) Give example of one removable
storage.

5T removable storaged S i |

(i) Write the full form of EBCDIC.
EBCDICT “f ®refy farey |

2. Answer the following questions : 2x4=8

oY HPTRY Teq e

(@) What are the components within a
computer processor?

ﬁmmmﬁwﬁmw%?

(b) Which symbol(s) is/are used for input
and output of information in a flowchart?

#F50° O input W output RIE FCe
TS o/ Baam &2
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(3)

(c) Draw truth table of either NOR or OR
gate.

NOR g3l OR gated 7] SIfeRF4 ¢ |

(d) Find out 2’s complement of 75 and 17.
75 HF 179 2’s complement et |

3. Answer any three questions : 5x3=15

R e MG 2w Tew o -
(a) Define the following terms :
fRare oremer s o
(i) Search engine
(ii) Web server
(b) What are the types of software? Explain.
5RO PR R R 2 e < |

fc) Construct a logic circuit for the Boolean
expression given below : .

o9 AN AR R logic circuit S :
P-Q+R-8+T-U

(d) Explain I/O management and memory
management with reference to operating

system.

Operating system¥ IS 1/0
management ¥[¥ memory managementd
ey oy v
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(4)

(e) Distinguish between input devices and

4. Answer any three questions :

output devices. :
Input device WF output device™ ¥ 2d &S
{12l fiefg <F4 |

R e TRH e Tew foxn -

(@)

(b)

(c)

A7/19

Draw a flowchart to compute the
summation of 10 user given integers and
display the same.

Userd Trag $91 1001 9@ TR Q9= AT
24T AMCA 951 FH16 S S A T

Use K-map to minimize the following
Boolean expression :

wﬁamm #fR4te K-map IS
4 :
f(A B,CD)=2(015781314)

Define the following :
weTe fraarEs e e
(i) Computer virus
(i) Antivirus
(iij) Digital signature
(iv) Firewall

( Continued )

10x3=30

(S)

(d) What is a universal gate? Construct OR

(e)

A7—1200/19

gate using NOR gate.

Universal gate ﬂﬁ'@‘i I & ? NOR gated
FERAE @6l OR gate 07 341 |

Write an algorithm to generate the total
marks and percentage of one HSLC
candidate and declare whether the
candidate has passed or failed the exam.
(Passing percentage is 30%).

HSLC @ Qo T9emR e I 1
T W e e REE @O Qe i
2ES 91 | FICS ARFALRIG Tef ' & 72'A
wIF TrEe 391 (TE =i 30%) |

Differentiate between wired communi-
cation and wireless communication.
Discuss various types of wireless
communication.

SRYE E SRR QT IFER A1 1
CRRRE s gEeEE f[few ez
AT 4 | -
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